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( Introduction to Sociology—I )

Full Marks : 60 (80 for 2023 Batch)
Time : 2 hours (3 hours for 2023 Batch)

The figures in the margin indicate full marks
Jfor the questions

1x6=6

Choose the correct answer from the following
options :

1. oo fral RespiRe =/ v Seach iR e :

(@) >a *fsgre g R 99 @ e SEibe
c2fRet 2

In® 17th"* century " the' ™ Industmal
Revolution took place in which country
of the world?

(i) SRS IS
United States
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(2)

(i) SO
India

(iti) 3T
England

(iv) ST OIS 7Y

None of the above

(b) ‘MR TGS R Ryw ware w09 17
a3 & N2

“Sociology studies social action.” Who
made this statement?

(i) e 5
Auguste Comte
(i) ¥ @1
’ Max Weber
(i) TR TR
Emile Durkheim
(iv) TFIHRER HF (I

Maclver and Page

(c) T (S GG SRON SHGTOGR_Y ?

Who among the following is an Indian
sociologist?

(i) °R D el
| Sir Herbert Risley
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(3)

(i) R &=
Henry Maine

(i) . 99. i
K. M. Kapadia

(iv) = I
Karl Marx

(d) “R[E R TR ey WE SNEOS KR
TR @ 1 2 FIEF (@A = ?

“History is the past sociolog}”, and
sociology is the present history. Who
made this statement?

() & 2 =we
G. E. Howard

(@) == ot
John Seely

(i) 9. 9=, F'I[
A. L. Kroeber

(iv) <9v. . T
S. C. Dube
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(e) m@ﬂmmﬂmwmm?

Which O.f .the following is not
charactcrxstlc of primary group? :

) CI T

physical nearness

(i) =&

(i) T N
Continuity in relationship
None of the above

P ceqfyy SR T W Y SkeR =g 1
;FW@W{W? DEX NG

«We belong to association but not to

: 2 . 2 >
institution.” Who made this statement?

() e oIoR
Kingsley Davis

(i) 35, G4, Eeo
H. M. Johnson

(i) AR SE TR

Maclver and Page

Arnold Green
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2. mﬁmﬂq@ﬁm%ﬁmemﬂmﬁiﬂz
(=TT Seo iz fooT) -

Write short notes on any three e
following (within 150 words each)

(@) “TISO% W oy Rreprg qred 14

Difference bemeen SOCioloy ant
Anthropology

(b) SBETR s IRz

In-group angqg out-group

(© ST gz

Social institution

(@) &S “iRabay wepie Pras
Demographic theory of social change

(e) Ty e RISICE IO

Sociology and common sense
|

(H W%W

Elements of association
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(6)

———_—_cR R L R G N
@oo ¥4 W) : 14%x3=472
Ahewer any MUSS from the following

questions (wii’-hin 500 words each) :

(a)WW%W?W%w{%W
gprt 7 SETOA! <57 4+10-14

What do you mean by sociology? Discuss
its origin and development.

(b) :foﬁﬁ aTS T oy Ry e

Discuss the relationship petween
sociology and history.

() gz I I ? AN CFEPRE sicem=n <1 |

4+10=14
What 159 group? Discuss its
characteristics.
(@) i@ e T2 W ARBPRR S 4 |
4+10=14

What do you mean by institution?
Discuss its characteristics.

() AET =F ROEE A AFPER SACEAT
<41 |
Discuss the differences between primary
and secondary groups.
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( Additional 20 marks for 2023 Batch )

4. Be fay 1’1‘.‘]31}15\{ fi Iz T’aﬂ waq a4l : 10%x2=20

Answ<‘:r any . two. from the following
questions :

(@) >TIere g fﬁmgﬂ-ﬂ w fF 7ol ?

What do you mean by sociological
thinking?

(b) AESY A e qogr A @ TF
SCEAGT 354 |

Discuss the relationship between
sociology and social anthropology-

(¢) 2 Sz gy e wcemsAl T |

Discuss the importance of primary
group.

(c) TS (e gz a1 1 |

Discuss the factors of social change.

* ok
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